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[H int main(int argc, char** argv) {

iﬂt l'l:S, TT:EI_. F:Q, b:EI'_l azl':]'p n,l ij j!

double p;

for(n=1;n<=u;n++){
for(i=1;i<=n;i++){
for(j=1;j¢=n;j++){
for(k=1;k<=n;k++){
if(k>=7 && k»=i){
if((i+3)>k){
m=m+1;
if(i==3){
m=m+1,;

if(pou(k,2.

r=rg ] e
r=r+l;

¥ |
L

)==pow(1,2.@)+pon(j,2.0)){
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if(pow(k,2.8)>(pow(i,2.€)+pou(j,2.8))){
b=b+1;

if(pow(k,2.8)<(pow(i,2.@)+pon(j,2.8))){
a=a+l;
if(i==3){
a=a+l;

b=b/2;

a=a/2;

p=(r*1.68)/(m*1.0);

cout<<m<<™, "<<r<<™, "<<b<< ™, "<<ad<", "<<{p<s<endl;
return @;
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